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T.B.C. : P-AQNA-L-ZNGU - Test Booklet Series

Serial No.

932493 TEST BOOKLET

MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
 INSTRUCTIONS |
> 1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOUL

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOQKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your Roll Number on the T est
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet. i

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item. |

’ 5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet. .

6. All items carry egual marks. |

7. Before you proceed to mark in the Answer Sheet the response to various items in thé
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet. ‘

|
9, Sheets for rough work are appended in the Test Booklet at the end. !
10. Penalty for wrong answers : I
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE,
OBJECTIVE TYPE QUESTION PAPERS. .

{ij There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the
marks assigned to that question will be deducted as penalty. |

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even'
if one of the given answers happens to be correct and there will be same penalty as'
above to that question. |

- (iii) If a question is left blank, i.e., no answer is given by the candidate, there will be'
no penalty for that question.
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1. If 3 is the root of the equajlcion
x? -8x+k =0, then what is jthe
value of k? !

(@)’ ~15 !
(b} 9 -
{c}. 15

{d) 24 !

2. Two straight lines x - 3y -2 =0|' and

2x-6y-6=0 l

i
{a) never intersect |
- a I

{b) intersect at a single point
!

c) intersect at infinite number of
points |
I

|
{d) intersect at more tharf one

point (but finite number of

points) [
|

3. If (a, 0}, (0, b), (1, 1) are collinear,

what is (a + b - ab) equal to?
1
|

fa) 2 l
(b) 1 |
{fc O |

{d) -1 |
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4. If

A

I

3 17 4t d

o 4| 29 ,%=g 2|
then which of the following is/are
correct?

1. AB is defined
" 2. BA is defined
3. AB=BA . \

Select the correct answer using the
code given below :

Code :

fa) 1 only

fb) 2 only

fc) 1 and 2 only

(d) 1,2 and 3

5. Using the digits 1, 2, 3, 4 and 5 only
once, how many numbers greater
than 41000 can be formed?

{a) 41
(b) 48
(c) 50
(d) 55

6. If an angle ¢ is divided into two parts
A and B such that A- B=x and
tanA:tanB=2:1, then what is
sin x egual to?

{a) 3sina
(b) (2sincy/3
{c) (sina)/3
{d) 2sino




1. afe o x2 - 8x+k =0 ® Th AW
3%, @ kAR R

faj -15
(b) 9
fc) 15

(d) 24

2, wWo Wi x-3y-2=0 3K
2x-6y-6=0

(a) et wie=adt =l €
(b) Wk farg W wferadl &
(c) ¥ weaas fagent m wfo=adt &

d) ™ & ayF (g o ders)
fargedt @ wfe=ddt €

3. 3R (@, 0), (0, b), (1, 1) & ¥, @
(@+ b~ ab) &l 9 H1 87

fa) 2

b 1
(¢ ©

d -1
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4. R \ ¥
3 1 11
A=[O 4] AR B= [o 2}
aﬁﬁqﬁwﬁaaﬁﬁaﬁ:—m/ﬁaﬁ%/%?
1. ABwﬁmﬁa% 1\, v
2. BA vhonfd & Vo
3. AB=BA
aﬁﬁ&nﬁgmméﬁ(aﬁm
qHT 4.
% : i
(@) FFd 1
{b) HIA 2 ,
fe) Fa 132 o
(d 1,233 \
1.
5. i 1, 2, 3, 4aﬂ15mﬁﬁa@aﬂ

ma‘maﬂﬁgq:uooo%a@m

T a1 e B ‘{

(a) 41
(b} 48
{c} 50 t
(d) 55 i.

6. afk T T o 3 wm A T B 36
ffra fe s @ B A-B= lx:mz
tanA:tanB=2:1, @ sinx %Hﬁ-?
O 87 ! '
{a} 3sina 4
{b) (2sina)/3
(c) (sinc}/3
{d} Z2sina

[P.T.O.
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7. A man standing on the bank of a .' 10. The vector @ lies in the plane of \0
river observes that the angle of '

elevation of the top of a tree just on
the opposite bank is 60°. The angle ,
of elevation is 30° from a point at a : (@) @ - (gx?:)) =0
distance y metres from the bank.

What is the height of the tree?

-
vectors b and ¢. Which one of the *
following is correct ?

oy

(b} a-(bx¢)=1
(al y metres
fc) d-(bx3)=-1
{b) 2y metres
‘ d = gx—) =3
{c) ———ij metres ) @ a:bxc) K

11. What is the projection of the vector

Y Rl , the vedt
(d) -, metres L —27+k on the vector 4i -4 j+ 7k ?

8. If P, Q, R are three non-collinear 2
points, then what is POnNPR
equal to? ' b 19
,' (o) 9 .
{a) Null set
' V5 .
fo; R
) (P} €@ 3
(3] P, Q R 11
€ {P, Q R) @ L
{dj {Q R}

12. Which one of the following

9. A, B, C, D and E are coplanar points: statements is correct ?

and three of them lie in a straight

line. What is the maximum number {a) sin? 30°, sin? 45°, sin? 60° are
of triangles that can be drawn with in GP
these points as their vertices? ' i
) (b) cos? 30°, cos? 45°, cos? 60° are
fa) 5 : in GP
' +
(b) 9 (c) cot? 30°, cot? 45°, cot? 60° arc
' in AP
fcj 10
{d) tan? 30°, tan? 45° tan? 6(° are b
(df 12 ‘ in GP
P-AQNA-L-ZNGU/66A .' 4
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‘0 7. e 1 ¥ R Te o s Jma €
: 3 Al fem W & T U & MR oW
FeE-H 60° ¥ | B & y Hi R

10. uRw @ wa wa # § fedt b o &
frerfrfa o 4 #H-w & w80

W T frg ¥ swE-BO 300 3 Vg A (@ @-(bx2)=0

$=d T &7 ) .

(b) d-(bx3)= ,

(@) yHH .*

) @-(bx%)=-1 |

(b) 2y " |

. (d) a-(bx2j=3 !

( %’fm -
11. u%mf-zj+ﬁw,qﬁm4€-4j+7;§qt

(d) - siéta 7 37 |

@ g |

8. aR% P, Q R @ owid frg & @ L0 ";

PO~ PR AF 1 87 (b} 5 i

(o) T wg=A !

(c) lfi '.

(b) 1P} |

11 *

¢ b Q R} @ 5 !

(d) {@ R} | | 'I
12, Frfifed § @ B-T OF w0 R A7 |
9. A, B, C, D 3R E waea firg & sl ' |

=3 § 9 T T Y w8 ‘3;[ ﬁﬁaﬁ {a) sin? 30°, sin? 45°, sin? 60I‘-|‘,
) 3 s s e B O GP# E ‘g
T T 27 | (b) cos?30°, cos?45, cos? 60"{,
@ s GPHE "

cot? 30°, cot?245°, cot? 60°|,
() 9 “ APT & !
() 10

(@) tan?30°, tan?45°, tan2 607,
(d 12 GPH

P-AQNA-L-ZNGU/66A ' 5




13, If sum of squares of the roots of the
equation x2+kx-b=0is 2b, what
is k equal to? :

(@ 1

(b} b _'

{c) ~-b

(@ o
14, If one root of the equation

ax? +bx+c=0, a# 0 is reciprocal

of the other root, then which one'of
the following is correct?

(@ a=c
(b) b=c
(¢) a=-c |
{d b=0 rr

T

15. If o is the imaginary cube root of
unity, then what is (2 - w+20%)%’
equal to? '

@ 37w !
(b) 3272

(¢} 327

(d) -327

P-AQNA-L-ZNGU/66A r

16. What is the modulus of

11,
1+3i 1-3i

(@) —

o —

{c] 535

@ 3

17. Let M be the set of men and Ris a
relation ‘4s son of defined on M.
Then R is
(a) an equivalence relation
(b) a symmetric relation only

(c) a transitive relation only
{d} None of the above
18. What is the locus of the point

which is at a distance 8 units to the
left of yaxis?

(@) x=8
() y=28
) x=-8
(d y=-8




@ 13 R R a2 ekeob=0 ¥ ¥
il 1 A 2b B, Ak AH F R

fa) 1
(b) b
fc) -b

(d) 0

14. It Wil ax? +bx+c=0, a# 0 W

™ g @R OqE w8, @
Prfafes & € -9 & adt 27

@ a=c

() b=c
(€ a=-c
(d) b=0
15. IR T F FAHF FTHE o &, W@
2 - o+ 202)27 = O T R?
(@ 327w
b)) -3274?
() 327

{d) _327

P-AQNA-L-ZNGU/66A

16.

1 1 mmm%?
1+3i 1-3i

3
(a) 3

(b} —
€} ¢

@ 2

fa) TH goual W R
(b) FAA TH WHEG WY B

(c) ¥ UF HEHF T 2

(@) ITH A A B Af

18. yaaﬁmsgﬁlﬁ@“ﬁmﬂﬁ’ﬁw

farmgay = 87
@ x=8
(b) y=8
(] x=-8

(d) y=-8




19. The number 10101111 in binary 22, If A, B, C are non-empty sets such A

system is represented in decimal that AnNC=d, then what is .
system by which one of the {(Ax BYn(Cx B} equal to?
following numbers? '
. faj AxC
faj 157
(b} AxB
(b) 175
e BxC
c) 571
(c) @ o
{d) 751
23. If A={4n+2|nis a natural number} .
20. There are 4 letters and 4 directed tall;l dB=h{in_I n_’;s agaturalln:m;ber},
envelopes. These 4 letters are ran- en what is (AN B) equal to*
domly inserted into the 4 envelopes. 2 . ?
a
What is the probability that the (6} {12n%+6nin is a natural
letters are inserted into the number }

corresponding envelopes? \ )
(b} {24n-12|n is a natural

(@) 11/12 | | number }

fb) 23/24 fc) {60n+30jn is a natural -
' number }

{c) 1/24 .

(dj {12n-6|n is a natural -

{d) None of the above number }

. | 24, If the matrix
21. The average daily income of workers

of a factory including that of the « B

owner is ¥ 110. However, if the A =[ ]

income of the owner is excluded, B a

the average daily income of the

remaining 9 workers is & 76. What is such that A2 = ], then which one

is the daily income of the owner? of the following is correct? ‘
{a) ¥ 300 L fal o=0,B=lora=1,B=0

(b) ¥ 316 | () a=0Bzrlora=0 p=1

fc) ¥ 322 . fc) ao=,L,P#0ora=1,p=0

{dj ¥ 416 ‘ (d} a#0, =0

P-AQNA-L-ZNGU /66A 8




b
I
!
|

4.’19&—&%%&{%3@110101111 QZHEST&T-EHWABEC@%%

<ver Tgia # frafalas demen # 9 AnC=®, ?ﬁ(AxB)m(CxB)Eh‘[nﬂ
fore v & g fefia df 27 T 87 |

(a) 157 . {a) AxC '

) 175 (b)) AxB ;

() 571 (¢ BxC

(@) 751 @ & |

i

20, 4HEM4 TR RFH &1 I4w 23. R A= {4n+2|n@3‘4¢l‘{?f151@1%}3ﬁ1

4 Tt # agfeswan T Y S| € B={3n|n & HE 2, @
TR T Wi 2 6 3 v g et (A~ B) fras e 37 ‘a
i gt Y P
{a) {12n2 + 6n| n & WO & &}
a) 11/12 !
| (b) {24n-12|n T TPl FET R)
(b} 23/24 ! ‘
o 1/24 (¢ {60n+30|n @m@iu@j%}
(@) T § A B (d) {12n-6|n TF 991 W7 8}
|
21, Br S0 % wdatedl @ ohew op, | 20 R TR ;
i B i w5, S A=[a {3] ‘.
? 110 3| frg af miftrs 9 oma = A B o ‘
e =, @ = 9 A=A Hi L
afvwa am Jwmn ?5'36 2 whrs $ v § A% =y, @ Pefafm 4 @
TS 31 797 87 FH-H1 T "l 7 .
(a} ¥ 300 {a) a=0,[3=137{21'310c=1,ﬁ‘;=0
(b) e316 {b) a=0,ﬁ¢13121310t¢0,[‘12=1
fc) ¥ 322 {c} a:l,B#O&ﬂH‘Ia;tl,ﬁl';Oi
(d) 416 ([d) a#0, B=0 .

|
P-AQNA-L~ZNGU/66A 9 [P, T.O.
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25. What is the sum of the focal ' 28. What does the differential equation L‘; '
distances of a point of an ellipse !

: dy
2 2 =4 =
EINN SR Yt
a* b r
' (where a is a constant) represent?
{fa) a '
' fa} A set of circles having centre
(b} b .
. on the yaxis
¢ Z2a !
( (b} A set of circles having centre
(d) 2b ' on the x-axis

' {c)] A set of ellipses
26. What is the degree of the following

differential equation? I {d) A pair of straight lines )
\ .
3.,}3 2
YV 438y, s " a9, i
dx3 de? dx : '

A_O‘.O dB—lO
Tl oq| @ “l2 1

-

fa} 1

(b} 2 such that A2 = B, then what is the
' value of a ?

¢ 3 - :
(@ 4 | (a) -1
| (B 1
27. What is the sum of '
¢) 2
.\f§+_1_+___1_.+... ?
J3 343 | W a
J3 ;
(e) o 30. What is the wvalue of n, if
P(15, n-1): P(16,n-2)=3:4?
3
(b) 3—;’“— (@) 10
23 | (b) 12
{c) —3—
' fc) 14
(d) 3 | (d) 15

P-AQNA-L-ZNGU/66A ''10




.25 foreft fefga 28. TR GHET

|
2 : dy
x? ¥ 1 y—=+x=a |
a2+b2 dx !
¥ farg A ef gl a1 A 2 (vt @ T aree &) o Frfm o @7
@ a (@) y-IF W FF AR qvﬁ\‘m T
=
() b '
o 2 (b) x-¥F W HE AR gal |H T
C, a
= -
(d) 2b ‘
() Ceigd wwhELEE
‘ |
26, IS THIHW _ (d) F T F T T |
2 i
d3y)® d2 dy _ o
a 0 1 o1 !
1 °Td 1 37 A=[1 1} o B=[2 1'}
() 1 wmREfr A2 =8 dia Eﬁliﬁﬂ*m
(b) 2 134 |
|
(g 3 faj -1 I
@4 @ 1 |
Fa L, 1 vt 7 47 fe) 2 \
27.
+~/§ 3J§ o = (d) 4 ;
@ 2 {
30. @R P(15, n-1): P(16,n-2) =3
@ nFH AR @ Re |
{b) ._BE |
2 (a) 10 |
i
© 2/3 (b) 12 i
3 ) 14 ;
(d) 3 (d) 15 :
;
P-AQNA-L-ZNGU/66A : 11




31. What is the value of the determinant

x+1 x+2 x+4
x+3 x+5 x+8|7?
x+7 x+10 x+14

x+2

(a)

(b)

(d)

!
32. Consider the following statements in

respect of the function !

flxy=x®-1, xe[-1, 1]

1. f(x)is increasing in [-1, 1]

2. fi(x} has no root in (-1, 1)

Which of the statements given

above is/are correct?
!

{faj 1 only
(6) 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2

P-AQNA-I-ZNGU/66A
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33. The largest value of
2x% - 3x% -12x+5
for -2 < x £2 occurs when
{a) x=-2
(b) x=-1
¢ x=2

(d} x=0

34. What is

fo—=
014+2sin? x

equal to ?

fa) =

(b}
(c)
(d)

35. If 5 and 7 are the roots of the
equation

[ IS I
o = P
e )
I
<

then what is the third root?

{aj -12
(b) 9
{c) 13

(d} 14




i
)
|
p

33. 2<x<2 % ﬁ“lﬂ.2x3~3x2;—l—2x+5

x40 x+4 mmfmumaasﬁm%,aa‘

x+5 x+8
x+10 x+14

(a) x=-2 ' E
|
(b) x=-1 ¥

fcj x=2

d) x=0 ‘,

34, [T— 2 o a0 7
0142sin?

L
sin” x i
|
(a) = ;
o
b1 !
(b) 3 L
.I
n ’.
{c] 7§ l
2n 1
(d) —= i
32. &R f(x)=x3-1, xe[~1, 1] % fw V3 ‘.
§ fefiRem =@ w fer fift o
1. F(n, (-1, 1] ¥ adam ¥y ss. 4R aHhEoT | F
2, flx)HFEIE (-1, 1) TR x 4 5 !
. 7 x 7i=0 |
I el 4 ¥ -6/ 7 ¥/ 5 8 x '
(@ ¥ad 1 F 7 5 ol 7 &, A e @ w87
(b) FEE 2 fa) -12 J}
(b) 9 :
¢) 13 2H
c) 13
(d) a1 ATR 2 (dy 14 :

P-AQNA-L-ZNGU/66A 13 [P.T.O.




36. In a GP of positive terms, any term
is equal to one-third of the sum
of next two terms. What is the
common ratio of the GP?

(@ J13+1

—

2
JT3 -

(0] >

J13+1
3

(c)

(d) V13

37. If {(1+tan6)(1+tang) =2, then what

is (8 + @) equal to?
{a) 30°
(b}
(c)

{d)

45°

60°

90°

38. If f(x) is an even function, then’
© what is !

Ig flcosx)dx '

equal to ?

{al ©

{b) E flcos x)dx

(c) QIO%f(cos x) dx ,

d} 1 '

P-AQNA-L-ZNGU/66A

39. What is the value of k for which thegs
system of equations kx + 2y =5 and
3x + y =1 has no sclution?

{aj ©
(b} 3
() ©

(d) 15

40. In how many ways can 6 girls be
seated in 2 empty chairs?

{a) 10
(b}
(c)

(d)

15
24
30

41. What is the value of

9 27 3,

a) 3
(b) 2
(¢ 1
(d) 0

42. Which term of the series

is —1287?
(a}
(b}
(c)
{d)

9th
10th
11th

12th




I.a&.mﬁq—eﬁqﬁﬁwcpﬁaﬁésﬂmm@r 39. k 1 7E 7 T 2, forass fore, weierion-

Q 9d & A - }) GP W w9 e kx+2y= 5m3x+y_1m
I F 37 g g T ¥7
|
Ji3+1 aj O i
(a) >
(b} 3 '
i
m A3 @ ¢ |
(d) 15 |
) Jid+1 }
3 40. 6 TRl i 2 wWielt FEA W %-—ﬁ‘
¥ foarr < g 8¢
(d) 13 [
fa) 10 I
(b} 15
37. AR (1+tan®)(1+tang) =2, A (0+0)
ferures aTeR 87 (e 24 |
' (d) 30 i
{a) 30° |
(b) 45° 9 27 3 |
) 41. 10810(8] logw[sz)ﬂogm(z) i 3?
(c/ 60
M & R7 l
(d) 90° |
{a) 3 | .‘
38. AR f(x) TH T G 2, @ ) 2 o
n ¢ 1 I
J.o Sflecosx)dx ;!
(d@ O |
foretr U B7 j '
(@) © 42. i 41, -%, . ® FH-A W) |-128
| 1
a 77 ;
(b 2 dx ) i
/] IO flcosx) @) o i
) 2]’3 Flcos x}dx (b) 107 |
f¢) 114 |
d 1 (d) 12af |
|

P-AQNA-L-ZNGU/66A 15
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43. What is the number of ordered pairs 46. What is the middle term in th'e‘ -
of non-zero positive integers (x| y expansion of .
such that x+y<47? 8

X
@) 4 2
i
(b) 5 (a) 35x*
8
(c) 6 |
' 17x°
. (b)
{a) 8 8
! 35x°

44. In the binary system of numbers (c) P
let a=00111 and b=01110, th?n
in decimal system what is b/fa
equal to? fd) None of the above

:
fa} 1

47. What is the sum of the roots of the
equation

b} 2
& 2-V3)x2 - (7-4¥3)x+(2+3)=07?
{c) 4
| fa} 2-3
(d} 5
(b) 2++3
I
45. 1If () 7-443
i
ot 1.1 (d 4
b-a b-¢ a ¢
48. What is the total number of
then a, b, c are in | combinations of n different things
taken 1,2, 3, ..., n at a time? .
{a) AP x (@) on+l |
|
(b} GP | {b) n2n+1 )
fc) HP l fc) on-l
{d) None of the above (dy 2" -1
P-AQNA-L-ZNGU/66A . 16




L
B sz P g w6 T (G Y
. ) gEm R AE x+y<4 AT
@ 4
() 5

fc) 6

(d) 8

44, f3-smuth vgfa £ gEnet # um witwe 5
a=00111 3R p=01110, @ A
9/ 8§ b /o FFEs s 87

faj 1
(b) 2
fc) 4

(d) 5

45,

1 1
+

b-a b-c

4

Qi
0 fr=

Wabc
(a) APHE
() GPHE
(c0 HP#®E

(d) 3 i @ g T

P-AQNA-L-ZNGU/66A
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46, [1—%)8 YRR A ma e |

35x?

(a)

17x°
8

(b)

35x°

fc) 3

(d) Ivdw d | Fg TE

47. TR
2-V3)x? —(7T-4/3)x+2+3)=0

1

% T ot A0 w0 RY

@ 2-3 |

(b) 2+3

) 7-443 , |

(d) 4
&

48, nPmagai & 1, 2, 3, ..., nqaaa'r(lﬁ
oA gQ H=E! I Her T F 37

ﬂu 2n+1
ﬂﬂ 22n+1 ‘
(C} 2n—1

{a)




49. One of the roots of the quadratic 52. The points with position vectors
equation ax? +bx+c= 0, a#0 is

positive and the other root is 10i +3j, 12i- 57, al+1 1j
negative. The condition for this to
happen is are collinear, if the value of a is
fal a>0,b>0,¢>0 (a) -8
(b) a>0, b<0,¢c>0 fb}) 4
fc] a<0, b>0,¢c<0 {c) 8
{d a<0,¢>0 {d) 12
50. If the solution of the differential 53. Whatis tf“? sine Of angle :bet“ieen }he
equation vectors t +2j+3kand i +2j+ 3k ?
dy ax+3 {13
_y. = {a} i
dx 2y+f 7
represents a circle, then what is the <13
b) —
value of aq ? 7
13
(@) 2 ) =2
(c) 77
(b) 1
(d) None of the above
(¢ -2
d -1 54. If

I . .11 -1
| sm(sm §+cos x) =1
Sl. If A, B, Carein APand b: c=+/3: /2,

then what is the value of sinC? then what is x equal to?

(a) 1 @ O
{bj 7_15 (b 1
4

() V3 € 3
1 1

@ - @ =

P-AQNA-L-ZNGU/66A 18
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@ |

P 40, Tl g ax2 +bx+¢=0, az 0 & 52. feify wfewl 100 + 3, 120 -5j, al +11]

T T AT © 3 e e | T FRg A g, Mawmuam B .
2 & forn wam yftrey 87 ||
(a) -8 rl
fa) a>0,b>0,¢c>0 b 4 ‘I
{b} a>0,b<0,70>0 (C) ! ;

e} a<0,b>0 ¢<0 (d) 12 ] ;
(d a<0,¢c>0 !

. 53, ufewl i+2j+3k 3R -f+2}'+3'}& &
= ¥ T F1 sine T RY '
50. i rahe AHR |

ﬂ=ax+3 (a) _1__3_ i

dx  2y+f - 7 ll ‘.
1 & OF J9 h) Eld wa §, @ aw : Ji3 !
— bl =~ .

L

(@) 2 “ 13 | 1 :
(b) 1 V7 :
c) -2 (d) I 8§ A B T '|
|
(d) -1 : i
54, afg |
' (] - :
51. AR A, B, CEAPH 3l b:c=3:42, Sm(sm 1g+°°s 1x)=1 1
A sin C %1 9 ¥4 87 '
A x FAE T RY $
{a) 1 |
faj O |

) — !

.\f?: (b) 1 | 1
I

4 oot
e} 3 (c} 5 '.

1 1 by
d) —— 1 .
@ 7 @ 3 |
!
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58. What is the condition that one root 01.
JQ—_ 1 the equation ax? +bx+c= 0 a+0

logla+va“+1)+log| ————— should be double the other?

a+va? +1] '

55, What is

(e} 2a? = 9be
equal to?
: (b) 2b? = 9ac
fa 1 () 2¢? = 9ab
(b} © {d) None of the above
¢ 2 ' . : .
59. Consider the following with regard to
) 1 ! a relation R on a set of real .
2 , numbers defined by xRy if and
only if 3x+4y=5:
56. 5 books are to be chosen from a lot 1.0 R;
of 10 boaoks. If m is the number of 2. 1R=
ways of choice when one specified 2
book is always included and nis the 3. 2 R 3
number of ways of choice when'a 3 4
specified book is always excluded, Which of the above are correct?
then which one of the following is )
correct? , fa) 1 and 2 only _
b) 1 and 3 onl
fa) m>n ®) Y
(¢} 2 and 3 only
(b) m=n

(d 1,2 and 3
) m=n-1

() o 60. The function
m=n-

flx) = ksinx+%sin3x
57. Which one of the following 'is

. . has maximum value at x = ~, What
correct in respect of the function 3

fix)=|xj+x2? is the value of k ?
fa) f(x)is not continuous at x = 0 (@) 3
1
(b) f(x) is differentiable at x =10 {b) 3
fc} f(x}) is continuous but 'not (c) 2

differentiable at x =0

{d) —

B

(d) None of the above
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e r—— = - =

@ 58. WlEW ax? +bx+c=0, a# 0 F TF
s5. log(a+x/a + ]+10g(mr '_—a2+1] ER| Eﬂiﬂ}mmﬁ,mmﬁ'%?
W\ w7 fa) 2a® = 9bc ' !

@ 1 {b) 2b? = 9ac ';I
5 o ) 2¢2 =9ab !

(@) 3w D ';
fc) 2 |
] so. TrfiF dEnsit ¥ T FEA W Gl
(@ 3 T WA R, xRy 7@ 37 Faet oft 5@

3x+4y=5, ﬁsmﬁﬁﬁwﬁ—r&aﬁq{

fram s - .

56, 10 T & A @ 5 gl B T ¥ 1. OR1 i
T ok fordiy geae 1 wda g W e ' 2. 1RrRL :
¥ oiwt @ den m } v R 2 ;
TE Sl HIRT A W A8 @A W gAE 3. 2R3 :
¥ o i e n 2, A Pt § 4 > *.
FH-H T GE 87 o o 4 FA-2 T 87 ‘.
: !
(@ m>n (a) Fa@ 132 |

b men (b} FTA 13’ 3

(c) a2 3 3
() m=n-1 @ 1,233

{d m=n-2

'L

\

|

60. FF  f(x) = ksinx +%sin3x a'Fr

57. %R f(x) =|x|+ x? & Fwm § fafafaa @’T

aﬁwmx=§m%1kwnﬁ.

® § -9 F H1d 37 a7 ‘
fa) x=0W f{x)&aa T3 & (a) 3 i
(b) x =0T flx) e 2 m L ‘,
3 I

() x=0 W fpy & 3§ &g © 2
e 7 3 '-
@ 3 '

(d) ITw Y B A - 2 :
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61, What is J'sin'l(cosx] dx equal to?

2

XN x

a) -4k
(a) 2 2

2

X
b +—+k
(b} 2

b A

() - _X" L kx

2 |
- ik
2

(d)

(SR}

where k is a constant of integration.

62. If o« and B are the roots of _' the
equation 4x2+3x+7=0, then
what is the value of (% + B72)?

{a) 47749
(b) 49/47
(c) —47/49

(d} —49/47

63. What is the equation of thé line
passing through ({2, -3)' and
paraliel to yaxis? '

fa} y=-3
(b) y=2
fc) x=2 .

(d) x=-3

P-AQNA-L-ZNGU/66A |
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64. What is the set of points (x, y). .

satisfying the equations x? + y? = 4
and x+y=27

{a) {(2r O): (_21 O): (O: 2)}

(b) {(O: 2)! (O) _2)}

(c) {{0, 2}, (2, O)}

{d) {(2: 0)! {_2a O): {Or 2]: (0: _2)}

65. Consider the following statements :

1. The inverse of a square matrix,
if it exists, is unique.

2. If A and B are singular
matrices of order n, then AB
is also a singular matrix of
order n

Which of the statements given
above is/are correct?

{a} 1 only
{b) 2 only
fc) Both 1 and 2

fd) Neither 1 nor 2




@ 61. Jsin"l(cosx)dx'ﬂﬂﬂﬁw%? ' 64. WHFWI x2 +y? =4 TN x+y=2 W
g FQ T Rgal (x, y F Ay

(a) 52"——§+k 1R !

) (a) {(21 0]! (‘“2: 0)! (0! 2}} ‘

(b} gﬁ--x—ﬂc .

) {(0, 2), (0, -2} |

) S-Stk '
2 e (0, 2), (2, O}
T x2 ;

@ S-T+k [ {2 0), 2 0), (0, 2), (0, 2}

o5 k W% AU 3T R

62. a7 TAFW 4x% +3x+7=0 F A |
o SR E, A o2 +p2) W A wW 65. ffafan st w = fifw .

37 1. U T g W ogopd, 9 (T8
foremm 2, 4 sfsetia 2 |
(a) 47/49
2, A AT B nFEH

(b] 49/47 o= 5 R AB fi n W w

c) —-47/49 3 S lr
A - 49747 g el 3 @ AR T Y lI
: I

63. (2, -3) ¥ T FEh ot y-uw F (a) 9 1 ‘
T @ T AHRT 4 87 |
|

(a) y=-3 {b) *ad 2 |I
| I

b) y=2 .
@y c) 13 2aH i
fej x=2 |
(d x=-3 (d) @ 1smad2 :
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66. What is the angle between t1[1e
lines whose direction cosines
are proportional to (2, 3,4} and
(1, -2, 1) respectively?

(a) 90° !
(b} 60°
{c}] 45°
(d} 30°
!
67. What is the value of k for which

the following function f{x) is
continuous for all x? [

ﬁf-l-_z for x#1
flx)= (x - 1)? i
k for x=1
(@ 3 |
(b} 2 !
() 1
d) -1

[

68. If p, g, r are rational numbers, then
the roots of the equation

x2 ~2px+ p? -g° +2qr—r2 =0
I

are
{a) complex

{d} rational
I
P-AQNA-L-ZNGU/66A
!

(b) pure imaginary !

{c} irrational

24

—

69. If A={1, 2, 5, 6} and B={l, 2, 3), ®
then what is (AxB)n(BxA)
equal to ?

(@ {(1, 1} (2, 1), (6, 1), (3, 2}}
m) {1, 1), (1, 2}, (2, 1), {2, 2)}
(¢ {(1, 1), {2, 2)}

(d) {(1, 1), (1, 2), (2, 5), (2, 6)} )

70. What is the differential equation of
all parabolas whose axes are
parallel to y-axis?

(@) Zx—?'j’w
(b} %w
(c) 373;%1
(d) %w

where ¢ is a constant.




@ 66 fm it # Ry (2, 3, 4) A
(1, -2, 1) F Fm: @afeE 8, T

e =1 o = 27
{a) 90°
(b) 60"
fc) 45°

(d) 30°

67. k ¥ 9g U= @ g, fowe o frafafea
EeH fix), x % gt ot % e oeaa 27

Jc:3 ~3x+2

f=1 (x-12  x#1 %
k » x=1 % fom

(@ 3

(b) 2

¢ 1

(d) -1

68, AR p, g, r TAT T &, A1 Gt
x2-2px+p?-g?+2gr-r2 =0

& e

() AFIH &

(b) o Fr

(c) oafea

(d) Ut §
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69. I A=(1, 2, 5, 6} 3R B= {12 3%
?ﬁ(AxB)n(BxA)ﬁ?ﬂﬁiﬁWl{%?

! !
@) {(1, 1}, (2, 1), (6, 1), (3, 2}}
() {(1, 1}, (1, 2}, {2, 1), (2,,2}}

!
}
|
ll

{d) {{1: 1)! (1) 2)» (2: 5): {2’ 16) }'

(¢ {1, 1), (2, 2}}

d3 :
@ w30 |
|
|
| i
I L
—_— = |
y? |
! i
l |
d3x [
fc) —5= o
Y | )
t
, :
@ e -




For the next five (5) items that follow : |, 73. What is the total strength of the . )
class?

The students of a class are offered three '

languages (Hindi, English and French). '

15 students learn all the three languages ! (a) 124
whereas 28 students do not learn any !

language. The number of students learning .

Hindi and English but not French is twice , (b} 100
the number of students learning Hindi and
French but not English. The number of
students learning English and French
but not Hindi is thrice the number of
students learning Hindi and French but' (d} 66

not English. 23 students learn only Hindj

and 17 students learn only English. The

total number of students learning French

is 46 and the total number of students 74. How many students learn English
learning only French is 11, \ and French?

fc) 96

! 30
71. How many students learn precisely (@)
two languages? '
. {b) 43
(a) 55 .
{c) 45
b} 40 . )
(c) 30 '-' [d) 73
(d) 13

; 75. How many students learn at least

one language?
72. How many students learn at least

two languages? .
' {a) 45 .

fa) 15 !

(b} 30 ’ o st

r,c) 45 ! {C) 96

(d) 55 ' {d} None of the above
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II
® :
- @ 3T O (8) weE & f 73. Fa F T DE-wE forah &7

o w1 % T AR o (R, s ek | :

F9) @ S §1 15 BE @ @ ad S & fa) 124 -
wafs 28 o H5 W e Had | B ofic sish ' o
drg g S 7 diEn 9 ol @ GE 3 Bl (b) 100 L

£ wen ¥ o 2 W R ol e il & Feg ':
siireh st i) 3T ofR S e g R T |

96 .
e T ol B e T wE H wen 3 A “ 1.
TH 2 < =0 ot B9 wfven § Reg oideh =t d !
i 23 °F wad <t dima 8 i 17 o| (d) 66

Fam N1 ¥ e T ol g SO 46 | o
¢ i Fad = dien 9= oE A 39 "@en 11

!

B . l Il

74.%aamaasﬁaﬂxiamaa%?li !

IFI 1

71. Tran o 39 5 g1 wEnd Hen 87 (@) 30 |
fa) 55 (b} 43 iI

(b) 40 (c) 45 .J |

fc) 30 @ 73 | “

{d) 13 . L

5. %ﬁmw-&-m@wm@%?? |
72. &t oE w0-Y-F0 T K ey §7

|

(@ 45 I;l

@ 15 |
) 30 b 51 1
© a5 () 96 %l
@ 55 . |
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76. 1f 79, If f(x})=2%, then what is f(x) @ °
n equal to?

I, = Igtan" xdx

f {a) 2%(In2)?
then what is I, + 1, _, equal to? '

' (b) x(x-1)2%"2

(@) 1/n
) 1/(n-1) | fe) 2% 1(n2)
(¢ n/in-1) | (d) 2*(log,q 2)?
(d) 1/(n-2) . )
80. In an examination, there are 3
77. What is the equation of the line multiple-choice questions and each .
joining the origin with the point of | question has 4 choices. If a student
intersection of the lines 4x + 3y =12 randomly selects an answer for all
and 3x+4y=127 the three questions, what is the
' probability that the student will not
fa x+y=1 . answer all the three questions
correctly?
b x-y=1 r
fa} 1/64
fc 3y=4x '
fb} 63/64
{d) x=y
’ fc) 1/12

78. If the sum of the squares of the
distances of the point (x, y) from fdf 11/12
the points (@, 0} and (-a, 0)is 2b2,
then which one of the following

is correct? 81. What is the geometric mean of the

data 2, 4, 8, 16, 32 7

fa) x2+c12=b2+yr2 l .
fa) 2
() x2? +a? =2p2 - 2 ' .
' (b) 4
e x?-a?=b%+ ,y2 ! (© 8
(d) x2+a?=p2- 4> ’ (d) 16
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79. TR fix) = 2%, A £(x) e w0 27
; , ‘;
I, = [7tan™ xdx :
n=fgtan® xde (@ 2%(n2)2
@I, + 1, TorEh et ¥7

(b} xjx-1)2*"2"
{a) 1/n

x+1
B 1/ 27 2

() n/in-1) (d) 2%(log,,2)?

(d) 1/{n-2)

'80. TS Wi 1, sagﬁmmﬁsﬁtm
wﬁz;ﬁm%tzr&qaammg%m
wﬁnﬁ?ﬁqwﬁ%m@mm

77. qEfeg W @il 4x+3y=12 i
3x+4y=12 & Tiawas g @ e

areft Y wHiE 27 Waﬁ,ﬁwﬁwmﬁw%%%
mw?ﬁqmﬁmﬂaﬁwqﬁ%’n?
fa) x+y=1 l ,
i
b) x-y=1 (@) 1/64 '1
fc} 3y=4x (b} 63/64 ; |
|
(d) x=y € 1712 L
(d) 11/12 L
78. AR frgsdt (q, 0) 2 (-a, 0} & fy ‘
(x, y) B gt & it w22 2,4 | i“
HFeifas - 7
HH - 0 81, el 2, 4, 8, 16, szarqufratmw
(@) x?+a?=b?+4y? w8

2, .2 2 _ .02 (@ 2 Il

(b) x“+a“ =2b" -y f
(b} 4

!

) x%2-a®=p%+4y? "

{c] 8 !

|
fd) x2+a?=0%-y> (d) 16
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82. What is the cumulative frequency
curve of statistical data commonly
called?

{a) Cartogram
(b) Histogram
(¢ Ogive
(d} Pictogram
83. If Aand Bare two mutually exclusive

events, then what is P{AB) equal
to?

(@ 0
(b) P(A)+ P(B)
(c) P{A) P(B)

(@) P{A)P(B|A)

I
84. If x =sinB+cos6 and y=sinB.cosH,
then what is the value of }

x*-4x?y-2x2 +4y? +4y+1?

fa) © '
() 1
c) 2

(d) None of the above

P-AQNA-L-ZNGU/66A - 30
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85. What is

lim (\/(12):2 +ax+1 —-\/a2x2 +1}
X—3o0

equal to?
1
(a) 5
{(b) 1
fc) 2
(@) 0

86, What is

dx

Isin\b—c
Jx

equal to?

cosvx
2

+cC

{a)

(b} 2cosx +c

—COS\/J_C
————+c
2

(c}

{d) -2cosVx +¢

where cis a constant of integration.
87. Which one of the following is the

unit vector perpendicular to the
vectors 41 +2j and -3i +27 ?

[+

(a)




o . . e '
82. wiferdly 3fehe & Tudl ST T B 85. lim Wa2x2 +ax+1-va?x? + 1)
THFEE: T4 8d 8¢ x—peo
: Fras sqs &7 .
(o) RN (@) 1 i‘
2 .
(b) e b 1 ‘i ,
i
(c) 3T fc) 2 ,
(d) T (@) 0 ‘} ’

86. ISi“deﬁmﬁsmé? \

I

83. 3Rl A 3 B TR avasi wed €, A Jx |
P(AB) fress s 87 a Cozﬂ“ |I

{a} 0 ‘

(b} 2cosVx +c¢
(b} PlA)+ P(B)

~cos/Xx
(c) 3
(c} P(A) P(B)

(d) ~2cosvx+c

+c .

S
e ————

i
(d) P(A}P(B|A)

l
S8 ¢ U WHEREH 3T 2| ’1
}

.
84. ﬂﬁ' X =sinb +cosb C’Eﬁ'( y=sind.cos9, 87. ﬁﬂf@@_(j # '@ a‘sm'm Th, 41"12_]'@(
A x% —ax2y-2x2 +4y? +4y+ 1 H -3i + 2] "iewt w e =8 |few 27
e #4187 s L
(a) 11'2—1 |
fa) O . , |
m J |
w1 V2 l
€ & ’.
(c) 2 :
@ i+j+k -
(d) =T 4 q @l A J3 \

P-AQNA-L-ZNGU/66A 31




88. Consider the following statements in
respect of the vectors

U =1, 2, 3), uUy=1{2, 3, 1)
Uy ={1, 3, 2) and u, = (4, 6, 2)
1. 4 is parallel to U,
2. 32 is parallel to U,
3. U, is parallel to U

Which of the statements given '

above is/are correct? v

faj 1 only
(b} 2

fe} 3 only

3

(d) 1 and 3 :

I

| 89. The line mx + ny = 1 passes through
‘ the points (1, 2} and (2, 1). What is
the value of m?

fal 1 :
(] 3 |

1
(c] 5

1
(d) 3

90. What is the solution set for the’
equation x% -26x%+25=07 '

(a) {_ 5: _1: 1: 5} ll

(b} {-5, -1} [
¢ {1, 5}
[d {-5,0 1, 5}

P-AQNA-L-ZNGU/66A ¢ 32

" opposite vertex and AD < DC.

triangle?

(a) 15°

(b) 30°

c) 45°

{d) None of the above

92. What is angle ABD?

(@) 15°

(b) 30°

(c} 45°

(d) None of the above

93. What is AD: DC equal to?

fa) {(7-243):1
(b) (7-43): 1
fc) 1:2

{d) None of the above

'For the next four (4) items that follow :

JABC is a ftriangle right angled at B. The
_hypotenuse (AC) is four times
“perpendicular (BD) drawn to it from the

the

91. What is one of the acute angles of the




b

@ 55 o 7 =(1, 2, 3), ©,=(2, 3 1),

AR | (4) SEE & fow t,
Uy =(1, 3,2) 3 o, =(4, 6,2) & l

T § frfefian sut w faem fifvw ABC W B W aua s iy 21 fawot (AC)
1. o, 0, % 99 21 3@ W faulia oid & s ™ o= (BD) ah'raﬂgfn
B % 3 AD < DC.
2. Uy, Uy % FARK B |
3. Uy, Uy % EHHI B |
I FA A @ B/ A/ 91. Fryw ¥ =@ it 4 A @ FH-w {7
(@) Fad 1 @ 15° | J‘I :
(b) 2 b 30 ,:
fc) Faa 3 ;
{c} 43° ‘
(d) 133 .
(d) 3w & 4 5 T .

89. @l mx +ny = 1fagadt (1, 2) 3t (2, 1)
¥ TSR §1 m 1 AH w87

| [
92, T ABD =T &7

(@ 1 "
{a} 15° :
(b} 3 |
1 {b) 30° f
(c) 5 .
{c} 45°
1 , |
@ 3 (d} ITYH A T HIg 7@ Ii
i
l |
90. THEW x%-26x2+25-0 W T~  93. AD:DC TR T ¥ ’\
w87 : 1
(@) (7-243):1 .
fa) {-5 -1,1, 5} |
_ . [
) (-5 -1) (b} (7-443): 1
¢} {1, 5) fc) 1:2
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94. What is tan(A - C) equal to?

{e] O
(b} 1
fc) 2

{d) None of the above

95, What is the radius of the sphere.
x* 4 y? 122

3
{oj \g

l t
2

3 :
fc) ‘E |

1
@ < '

'

~x—-y-z=07

{b)

96. An experiment consists of flippingra
coin and then flipping it a second
time if head occurs. If a tail occurs
on the first flip, then a six-faced qie
is tossed once. Assuming that the
outcomes are equally likely, what'is
the probability of getting one head
and one tail? :

@ 174 |
(b} 1736 !
() 1/6
@ 1/8 |

P-AQNA-L-ZNGU/66A ’

97. If, in general, the value of sinA is . -
known, but the value of A is not
known, then how many values of

tan(A /2} can be calculated ?

@) 1
b 2
(c) 3
{d) 4

98. Consider the following :

n

1. cosec'l[—-g—] ===
V3 3

-1 2 n
2. sec ]('—ﬁ) = z
Which of the above is/are correct?
(a)
{b) 2 only

! only

{c) Both 1 and 2

(d}] Neither 1 nor 2

99, Consider the following statements

with regard to correlation coefficient r
between random variables x and y:

1. r=+1or -1 means there is a
linear relation between x and y.

2. -1<r<1and r? is a measure
of the linear relationship
between the variables.

Which of the statements given
above is/are correct?

{a)
(b} 2 only

1 only

(¢) Both 1 and 2

(d) Neither 1 nor 2




|
I

i
1

® 4. tania- o frer T R? 97. zrii’mmmsmzammm% frg
A &1 U0 T8 WeE 3, a’lt.tan(A/z)%
a) © ﬁmmmmmmwm
) 1 fa) 1 .
fe) 2 (b) 2
(@) S & FE T fc) 3 |
(d) 4 |

95. M x2+y2+22-x—y~*z=0 i
Bt w7

1. cosec'l(--i)z——TE !
() J§ 3 3
a. —
. . 6

1

® 3 ercrg%ﬁﬁaaﬁq-m/%w%/%?i
(@) Fad 1 '
|
(@E (b) e 2 i
fc) 13N 2T i
(d) % (d) Ad1LMWAH 2 :
|
| 99, T W x M y F A R
96. T Wi UF i H JoER W, 3 K T r & wd & frefefen ol =
e a7 &, @ I o aw e IoER = Fareme Ao : J
21 af e Town A 3=5 o &, Al T 1. r=+1 391 -1 & mf%%
e e AT U TF AR B S 21 AR xﬁ?y%ﬂ“ﬂ@mw%l
a3 T wft aform R wnw 2. -1gr<1 3R 72 R Wi
MY 3N Tk g TR A T wReEw Wy w7y o1 AW ‘.
! '.
¥ TE Fo # A AR R
(@ 1/4 (a) Fa& 1 !
(b) 1/36 (b) S 2 .
¢ 1/6 (¢) 1323 ‘,
(d) 1/8 (dj :_f?ﬁlaﬂwah
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100. If the values of a set are measured
in c¢cm, what will be the unit of
variance?

fa} cm
(b) cm?
f¢) cm3
(d} No unit

101. A box contains 6 distinct dolis.
From this box, three dolls are
randomly selected one by one

with replacement. What is the

probability of selecting 3 distinct
dolls?

fa) 5/54
{b) 12/25
¢ 1/20

(d) 5/9

102. For the equation

ax? + by? +2hxy+2gx +2fy+c=0

where a# 0, to represent a circle, |

the condition will be
fa} a=bandc=0
fb) f=gand h=0
(¢ a=band h=0Q

{d} f=gandc=0

P-AQNA-L-ZNGU /66A
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'103. If A and B are events such that

PAUB)=0-5  PB}=0-8 and
P{A| B) = 0-4, then what is P(An B)
equal to?

(@) 0-08
(b} 0.02
() 0-8

(d) 0.2

104. Consider the following relations
among the angles a, f, ¥ made by a
vector with the coordinate axes :

1. cos2x +cos2B +cos2y = -1

2. sin?o +sin? B+sinZy=1

Which of the above is/are correct?

fa} 1 only

(b) 2 only
fc/ Both 1 and 2

{d} Neither 1 nor 2

105. Which one of the following points lies
on the plane 2x+ 3y-6z=217

() 3,2, 2

{b) 3,7.1)

{c) {1, 2, 3)

d (2,1, -1)




e
@ 100. TR fredl Tg= % 7 cm # O I £, 103.aﬁAaﬁIBaaﬁ3Hw§s4%

a1 TEr F R T e P(AUB)=0-5, PB)=0-8 aR
' P(A|B)=0.4, @ PAnB) fraF
fa} cm TR &7 .
(b} cm? fa) 0-08 ;
() cm® (b) 0-02 |
{d) s T () 0-8 |
{d 0-2

- I

t
101. & 6<% § 6 Pm qfeat &1 w0 v ¥ | ;
GIE M (E0 IR CEC 0 | C R e e ) 104. ot wfim g fdws st @ @)@
TG F @i =ate e 21 3 fw Hl o, B, v % ol Foferflaa ward! wo
AT % Fa I w87 fomm Sifm |

1. cos2o+cos2P +cos2y=-1

l
|
f
oc+sin2B+sin2'y =1 ]
!

fa) 5/54
2. sin?
(b) 12/25
IFE A T wE-T/E wE R/E? r
fcg 1720
(a) ¥4 1
(d) 5/9 |
(b) FEA2 i
i
102. wiflam (o 132 e
ax2+by2+2fmy+29x+2fy+c=0 {d) T 1A 2

I|

W& @2 0, TF Jd H ELA W, TAH ‘
- wifeE=y @ Bm? 105, =fofea fagsti & @ - s, oo

2x + 3y — 6z =21 W7 |

(@ a=b3Me=0 : |

@ (3,2, 2 |
) f=g3Mh=0 B G :
ct a=b3Mh=0 © (L 2 3 ]'
(d) f=g3c=0 d (2,1, -1) |
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106. What is the acute angle betwleen
the ©planes x+y+2z=3
2x+y-z=117

and

{a} m/5

(b} m/4
c) n/6

(d) /3

107. What is the arca bounded by the
curves y=e*, y=e * and the
straight line x =17

{a} (e+—1] square units
e/

{b) e——] square units

(c)

(e +—- 2] square units

{d} |[e——- 2) square units

108. What are the points of intersection of
=1 with its
conjugate axis? |

the curve 4x2-—9y2

(@) {1/2, 0} and {-1/2, 0}
(b) (0, 2) and (0, -2)
{c) (0, 3) and (0, -3)

{d} No such points exist
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109. What is the locus of a point which '

moves  equidistant from  the

coordinate axes?

fa)] xty=0
{b) x +72y =0
fe} 2x+y=0
{d) None of the above
110, What is
Iex(wf.v_c + —1—de
2vx
equal to?

fa} xe* +c
(b) e*Wx)+c
(c) 2e*Wx)+c

{d) 2xe* +c¢

where cis a constant of integration.

111. Let p, g, r, s be respectively the
magnitudes of the vectors 3 —2}',

R+2j+R, 4i-j+R, 2i+2)+ 3k
Which one of the following is
correct?

{a) r>s>qg>p

(b)) s>r>p>gqg

fc) r>s>p>gq

{d) s>r>g>p




.. 106. @HaA

x+y+2z2=33 -2x+y-z=11
% o R = 27

(@ m/S

(b) n/4

{c) n/6

[d n/3

107. T y=e*, y=e * M TqA Tl x = 1
¥ firr ot deree 7 7

{a) [e+—1)?ﬁ§ﬂ'§

e

108. % 4x2 - 9y? = 1 ¥ @ wgl Wy A
giaede forg = £7

(@ (1/2, 0) 3 (~1/2, 0)
(b) (0, 2) 3T (0, -2}
(e (0, 3) 3 (0, -3)
(d) Uwn = fomg e 2
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109. fi¥ws st A W g W T g
1 forgny 70 ¥? |

fa] xty=0 '~
fb) x+2y=0
() 2x+y=0

(@) EwE A FE A

'

110. fe"[\ff+§-1ﬁjdx forer aiuat;%?

|

fa) xe* +e¢ l:
{

b e*WR)+e :
|
{¢) 2e*(Jx}+e %

{d} 2xe* +c¢

el ¢ TF WHeRe 3T 21

111, A oif B afiwit 37 -2, 20 +2j+ &,
4i=F+ Rk, 21 +25+ 3% F whemr
P gt s%,iﬁ'ﬁﬁ%ﬁaﬁﬁ{#ﬁq-m
T w87 \

]

|

fa) r>s>qg>p i

1

(b) s>r>p>q !
{¢) r>s>p>gq

(d) s>r>g>p




112. In a triangle ABC, if ¢=2, A= 1207,

113.

a =6, then what is C equal to?
(aj  30°
(b} 45°
(c) 60°

(d) 75°

Class Interval| 1-5 | 6~10 [ 11-15]16-20

Frequency 3 7 6 3

Consider the following statements
in respect of the above frequency
distribution :

1. The median is contained in the
modal class.

2. The distribution is bell-shaped.

Which of the above statements
is/are correct?

{a) 1 only
{b) 2 only
{c} Both 1 and 2

(d} Neither 1 nor 2

P-AQNA-L-ZNGU/66A
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For the next two (2) items that follow :

The following table gives the continuous
frequency distribution of a continuous

variable X :

Class Interval

0-10

10-20

20-30

30-40

40-50

Frequency

10

20

10

114, What is the median of the above

frequency distribution?

(@) 23

(b) 24

fc) 25

(d) 26

115. What is the mean of the above

frequency distribution?

{a} 25

(b} 26

(¢ 27

(d) 28

o




Q 112. B ABC ®, aR c=2, A=120°,

113.

P-AQNA-L-ZNGU/66A

a=+6, ™ Cfrad s 27

{aj 30°

(b) 45°

fc) 60°

(dj 75°

E"‘i‘m 1-5 6-10 | 11-15} 16-20
ST 3 7 6 5
IR B W Tmawd ¥ % fwg #
frafefas st w fomm $ifsw -

1. Wit agasm =i 4

2. I WUIHN B

S ot 3 A Ao/ w2
fa} @&ad 1

{b) e 2

fc) 132 TE

(d) T ;aﬁwzﬁz
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i

| 'a
IS Y (2) Wi % o 11

ﬁmf%rﬁgaﬁmﬁﬁwﬂmmxaﬁm
TR =2l § ¢

=t sramer | 0-10 | 10-20]20-30| 3040 40-50

HTEHTET 5 10 | 20 5 10

87 '
{aj 23

(b) 24 \
(c} 25 ]{_
(d) 26 '{‘

!

',
';
115. St R T AR SR A w27
|
(a) 25
(b) 26 '
fc) 27

(d) 28
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116. If the matrix

2-x 1 1
A=l 1 3-x 0
-1 -3 -x
is singular, then what

solution set S?
@) S=1{0, 2, 3}
(b) S={-1, 2, 3}
) S={1, 2, 3}
(d) S={2, 3}

117. What is the range of
fi{x) =cos2x —sin2x?

(a) (2, 4]

(b) (-1, 1]
(C} [_"\/5’ ‘J§]

(d) (-2, J2)

118. What is the solution
differential equation

_ 42
.d_y+ 1 y :07
dx 1- x?
fa} sin"ly+sin“tx=c
Tx=¢

(b) sin~!y-sin~
fe) 2sin”t y+sin”

(d) 2sin”!y-sin”

where ¢ is a constant.

P-AQNA-L-ZNGU/66A

is the

1x=c

1x=c

T .. =
Z=1+cos—+isin—
5 5

then what is |z| equal to?
(a) 2003%
{b} 2$in-75E
(c) QCOS—iT-EO-

. m
d) 2sin—
(d) in—=

120. If xi+yj+zk is a unit vector and
x:y:z=+3:2:3, then what is the

value of z?
3
(a) 16
(b} 3
3
{c) 7

(d) 2
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.3 116. AR =g

2-x 1 1
A=l 1 3-x 0
-1 -3 -x

AR 8, O TR-9g=g S w &7
(@} S=1{0, 2, 3}

() S={-1, 2, 3}'l

€@ S={1, 2, 3}

(d) S=({2, 3}

117. f(x) = cos2x —sin2x & 9Ud &7 27
(@) [2 4]
®) -1 1]
) [-V2, V2]
(d) (-2, J2)

118, 3GFS GHIRW]

dy, 1=y

=0
dx

1-x2
1 B a4 87
(@) sin“!y+sin~lx=c
) sin"!y-sin-lx=c
fc} 2sin"!y+sinlx=c
(d) 2sin~! y-sin~!

X =c

el ¢ Th I B
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119. 3fe

120. AR xi+yj+zk s = wlky ¥ bk

T .. = oo
z=1+cosg+1sm— '

A |z| Frae were #7 !

4
a) 2cos—
(@) os <
. T
b) 2sin—
(b) 1n5 |
{
|
|
|
) |

c) 2cos—
(¢) 5 |
'
|

. m
d) 2sin—
{d) smlo

i
x:y:1z=+3:2:3, q z % A7 w01 87

{
|

3
(a) Te

(b} 3

(c}

A w

(@) 2
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